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1.

Daniel Defoe (5, E)
Oscar Wilde (1, A)

Joseph Conrad (4, D)

Virginia Woolf (2, B)

William Golding (3, C) 

2.



1. Because the portrait grows old and shows how sinful Dorian is. 

2. Students' own answers.  

3. Just one day. Classical novels depict dozens to hundred years.

4. Yes, there is the character of the World War I veteran Septimus Warren Smith who suffers from „shell shock" and hallucinations of his dead friend. He refuses to go to the psychiatric hospital and commits suicide.

5. Ralph tries to organise a civilised society under certain rules. However, Jack, his rival, wants to hunt, lead a savage life without any control. 

6. Students' own answers.

7. Students' own answers.

8. He is a mysterious character, is a talented man, "universal genius" but on the other hand a brutal person who let the natives treat him as god and committed heinous acts to gain fame and fortune.  Seriously ill, he dies realising the horror of his deeds.

9. He is a castaway and has to spend 28 years on a tropical island. He only has several animals and some tools and other supplies from the shipwreck.

10. Robinson Crusoe shows the “positive“aspects of the colonisation (building new shelters and settlements, reading the Bible, educating “savages“). On the other hand, The Heart of Darkness shows the cruel exploitation of the native inhabitants and new land as well as the harsh conditions the colonisers had to face.  

3.

1. Dorian is an extraordinarily beautiful young man.

2. The portrait ages instead of him.

3. Septimus is taken to the psychiatric hospital.

4. Woolf was one of the prominent modernist writers.

5. The boys survive a plane crash.

6. Jack's followers don't follow any order but live like savages on the island.

7. European colonisers exploited the black continent.

8. They transported ivory down the Congo River.

9. Robinson was a castaway on a tropical island.

 10. In the end he returns to the mainland.

